Inorganic Chemistry 1
QUANTUM THEORY
QUANTUM NUMBERS

Problem-Solved Example 31

C‘m"'dér the N= 65 /bﬂ'n Cffa/ faam‘um number .
q) Predict Hthe nrumber 0/ Subleve s @«A:/»e //s) in s fevel .

6) [dm/ﬁ each of Fhe Suk fevels [J’a‘.r;(C//.f) and Hler~ X alues .

) Use the 244/ refe +>o calculate A»am?nj ovbifafc each

Subshel/ has and /'da;;",é e ”, Value fy cach awvbifal
Ad) What is the Fotal number of elechm in She n=5 feve/ ?

&) hat is Fhe Fotal number of orbitafe in Fhe n=5 feve/ P

Solution
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Problem-Solved Example 31 : Solution

@, n=5 : #otal Ao - o/ Ja‘;‘e//:’l £ 0,/ 3,3 wsiis , (n__,)
A=o0 (55 —xubrﬁl//)
L =/ (5/o-saé.r£¢//)
L=2 (54 — subshell)
A=3 (515-.1‘«43/,.//)
L=4(5¢- :aésh//)
(e) 7Total no.of ovbitalk /n €4ac
No. of orbital = @L+1)= a(o)+! = L ovbital : 5S

4 subshell is = 24+

n= 5, LA=0:
n=t, L=y : No. ofgvbifals= 20+ = 3 orbital : 5p, 5Py s'/z
& O
M= o ~ ©0 1t

5px Spy  fpz

n=5 A=2 (5&( Sué..r/)e//)
No. of arbifals = 244/ = 2(2) #/ = Sovbitals of 4 .

Mg Qggﬂ)@'\
F RN e

dey S-a:“z 52‘{}, " 22

2

nss  L=3 (5f subshell)

No- o/”"‘*Q/‘ = 2L +/ = 2(3)+/ = Torb/tals 0/ /‘
of 5 subshell

70)’51‘/0/: o{ /—-fub:be//,

ML _3 -2 -1 0 + *2 +3</
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Nh= § , L=4 (5:7 .mé.:/n//)

No. of abifal _ a4 41 = 2(0* = 9 orbitals o/j
of 5:7 Subshel/

7076/'7‘4/:
m ~4-3-2-l o 4 +2 *3 +4 ’{j-;«b/m/.
2 2 G
. bitals =N = 5" = 25 oy br'fals
’ 767‘a/ . O/ " : -9#5/1‘6'/:)

(5.6 L/ orbital ; Sp ~3arbitels; 5d - Sobitals ; 5 - Tevbitals; 59

2 ’
; o = 2(5)=50es
0 Tota/ ne. of eleckmns In N=5 v/ = 20 elec hrons ()

’.C 25 ob/fal x 2 df/dél‘fa/ = 50:’_( ,
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